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Direction : Answer the following questions

by selecting the correct option.

1. Which one of the following is

associated with exogenetic force?

(A) River erosion

(B) Volcanic activity

(C) Continent-forming movements

(D) None of the above

2. Which one of the following is

associated with diastrophic forces?

(A) Glacial erosion

(B) Karst erosion

(C) Emergence of coastline

(D) None of the above

3. The frost action is associated with

(A) physical weathering

(B) chemical weathering

(C) biological weathering

(D) None of the above

4. Which one of the following streams

has the direction of flow controlled

by rock structure?

(A) Consequent stream

(B) Subsequent stream

(C) Obsequent stream

(D) None of the above

5. ‘Badland topography’ is produced by

(A) snowstorm

(B) rainstorm

(C) hailstorm

(D) None of the above

[>ìƒ¢[ÅA¡à : Î[k¡A¡ l¡üv¡¹ [>¤¢àW¡> A¡ì¹ >ãìW¡¹ šøÅ—P¡[º¹
l¡üv¡¹ ƒà*ú

1. [>³—[º[Jt¡ ëA¡à>[i¡ ¤[ÒÑ‚ šø[yû¡Úà¹ ÎìU Î}™åv¡û¡?

(A) >ƒã¹ Û¡ÚA¡à™¢

(B) "àìN—Ú[K[¹¹ Î[yû¡Út¡à

(C) ³ÒàìƒÅ Kk¡>A¡à¹ã ®è¡-"àì–ƒàº>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

2. ®è¡-"àì–ƒàº>A¡à¹ã Å[v¡û¡¹ ÎìU >ãìW¡¹
ëA¡à>[i¡ ™åv¡û¡?

(A) [Ò³¤àìÒ¹ Û¡ÚA¡à™¢

(B) A¡àÐ¡¢ Û¡ÚA¡à™¢

(C) l¡ü[xt¡ l¡üšAè¡º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

3. íÅt¡¸A¡à™¢ ™åv¡û¡ ¹ìÚìá

(A) ™à[”|A¡ "à¤Ò[¤A¡àì¹¹ Îàì=

(B) ¹àÎàÚ[>A¡ "à¤Ò[¤A¡àì¹¹ Îàì=

(C) í\[¤A¡ "à¤Ò[¤A¡àì¹¹ Îàì=

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

4. [>³—[º[Jt¡ ëA¡à>ô >ƒã¹ K[t¡š= [Åºà¹ Kk¡ì>¹
‡à¹à š[¹W¡à[ºt¡ ÒÚ¡?

(A) ">åKà³ã >ƒã

(B) š¹¤t¡¢ã >ƒã

(C) [¤š¹à >ƒã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

5. ‘Badland ®è¡[³¹ê¡š¡’ K[k¡t¡ ÒÚ

(A) tå¡Èà¹ c¡Øl¡ ‡à¹à

(B) ¤õ[Ê¡ šø¤àÒ ‡à¹à

(C) [Åºà¤õ[Ê¡ ‡à¹à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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6. Which one of the following is an

unstable landform of the earth?

(A) Scandinavian

(B) Himalayan

(C) Deccan

(D) None of the above

7. ‘Fumarole’ is produced from

(A) earthquake

(B) volcano

(C) erosion

(D) None of the above

8. Fault-line scarp is the result of

(A) second cycle of erosion

(B) first cycle of erosion

(C) arid cycle of erosion

(D) None of the above

9. Mushroom landform is found in the

regions of

(A) savanna of Africa

(B) great plains

(C) Sahara desert

(D) Deccan trap

10. Geomorphology is

(A) a systematic study of land

formation

(B) a systematic study of land

features

(C) a systematic study of landforms

and their origin

(D) None of the above

6. [>³—[º[Jt¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ "Îå[Ñ‚t¡ ®¡èKk¡>
"e¡º?

(A) ÑH¸à>[l¡ì>[®¡Úà>

(B) [Ò³àºÚà>

(C) ƒà[Û¡oàt¡¸

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

7. ‘[ó¡l¡ü³àì¹àº’ K[k¡t¡ ÒÚ

(A) ®è¡[³A¡´š ë=ìA¡

(B) "àìN—Ú[K[¹ ë=ìA¡

(C) Û¡ÚA¡à™¢ ë=ìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

8. Wå¡¸[t¡ì¹Jà ®õ¡P¡t¡i¡ Òº

(A) [‡t¡ãÚ Û¡ÚW¡ìyû¡¹ ó¡º

(B) šø=³ Û¡ÚW¡ìyû¡¹ ó¡º

(C) Ç¡ÍH Û¡ÚW¡ìyû¡¹ ó¡º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

9. ³àÅ¹ç¡³ ®è¡[³¹ê¡š ëƒJà ™àÚ

(A) "à[óø¡A¡à¹ Îà®¡à>à "e¡ìº

(B) ¤õÒ; Î³®è¡[³ "e¡ìº

(C) ÎàÒà¹à ³¹ç¡ "e¡ìº

(D) ƒà[Û¡oàìt¡¸¹ ³àº®è¡[³ìt¡

10. ®è¡[³¹ê¡š[¤ƒ¸à Òº

(A) ®è¡Kk¡ì>¹ &A¡[i¡ ÎåÎ}Òt¡ š™¢àìºàW¡>à

(B) ®è¡šøAõ¡[t¡¹ &A¡[i¡ ÎåÎ}Òt¡ š™¢àìºàW¡>à

(C) ®è¡[³¹ê¡š * t¡à¹ l¡ü;š[v¡¹ &A¡[i¡ ÎåÎ}Òt¡
š™¢àìºàW¡>à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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11. A river is called ‘misfit’ when

(A) a big river flows in a narrow

valley

(B) the river meanders in its course

(C) a river is cut off and looks too

small for the main valley

(D) None of the above

12. Which one of the following is

farthest from the seashore?

(A) Continental shelf

(B) Abyssal plain

(C) Continental slope

(D) None of the above

13. The zone of maximum salinity in the 

northern hemisphere is from

(A) 20°–40° N

(B) 0°–20° N

(C) 20°–35° N

(D) None of the above

14. Which one of the following is known

as iceberg?

(A) Pack ice

(B) Floe ice

(C) Field ice

(D) None of the above

15. What is the movement of counter-

equatorial current of the Pacific

Ocean in the equatorial region?

(A) East to West

(B) Southeast to Northwest

(C) West to East

(D) None of the above

11. &A¡[i¡ >ƒãìA¡ ‘misfit’ ¤ºà ÒÚ ™J>

(A) &A¡[i¡ ¤õÒ; >ƒã &A¡[i¡ Î}A¡ão¢ l¡üšt¡¸A¡à¹
³‹¸ [ƒìÚ šø¤à[Òt¡ ÒÚ

(B) >ƒã[i¡ t¡à¹ K[t¡šì= ¤òàA¡ Îõ[Ê¡ A¡ì¹

(C) &A¡[i¡ >ƒã [¤[ZáÄ ÒìÚ ™àÚ * šø‹à>
l¡üšt¡¸A¡à¹ š[¹³àìo >ƒã[i¡ìA¡ ëáài¡ ëƒJàÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

12. Î³å‰t¡i¡®è¡[³ ë=ìA¡ ƒè¹t¡³ "e¡º ëA¡à>[i¡?

(A) ³ÒãìÎàšà>

(B) Î³åì‰¹ K®¡ã¹t¡³ Î³®è¡[³

(C) ³Òãn¡àº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

13. l¡üv¡¹ ëKàºàì‹¢¹ Î¤¢àìšÛ¡à "[‹A¡ º¤oàv¡û¡
"e¡º[i¡ "¤[Ñ‚t¡

(A) 20°–40° l¡üv¡¹ "Û¡à}ìÅ

(B) 0°–20° l¡üv¡¹ "Û¡à}ìÅ

(C) 20°–35° l¡üv¡¹ "Û¡à}ìÅ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

14. [>³—[º[Jt¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ [Ò³îÅº >àì³
š[¹[W¡t¡?

(A) š¸àA¡ "àÒüÎ

(B) ëóÃ¡à "àÒüÎ

(C) [ó¡Á¡ "àÒüÎ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

15. [>¹Û¡ãÚ "e¡ìº šøÅà”z ³ÒàÎàKì¹¹ [>¹Û¡ãÚ
šø[t¡ìÑ÷àìt¡¹ K[t¡š= ëA¡à>[ƒìA¡?

(A) šè¤¢ ë=ìA¡ š[ÆW¡ì³

(B) ƒ[Û¡o šè¤¢ ë=ìA¡ l¡üv¡¹ š[ÆW¡ì³

(C) š[ÆW¡³ ë=ìA¡ šèì¤¢

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


/5 5 [ P.T.O.

16. Labrador Current flows from

(A) North Atlantic Ocean to South

Atlantic Ocean

(B) Atlantic Ocean to Arctic Ocean

(C) Arctic Ocean to Atlantic Ocean

(D) None of the above

17. Which one of the following ocean

currents is common to Pacific,

Atlantic and Indian Oceans?

(A) Labrador Current

(B) Kuroshio Current

(C) Gulf Stream

(D) West Wind Drift

18. Most of the dissolved materials in

sea-water are derived from

(A) seafloor

(B) atmosphere

(C) remains of marine organism

(D) None of the above

19. The proportion of different salts

present in seawater

(A) remains constant

(B) changes from one place to

another

(C) changes with seasons

(D) None of the above

20. A shallow stretch of seawater partly

or completely separated from the

open ocean by a reef is called

(A) lagoon

(B) atoll

(C) strait

(D) None of the above

16. º¸à¤øàl¡¹ ëÑ÷àt¡[i¡ šø¤à[Òt¡ ÒÚ

(A) l¡üv¡¹ "ài¡ºà[–i¡A¡ ³ÒàÎàK¹ ë=ìA¡ ƒ[Û¡o
"ài¡ºà[–i¡A¡ ³ÒàÎàKì¹

(B) "ài¡ºà[–i¡A¡ ³ÒàÎàK¹ ë=ìA¡ Îåì³¹ç¡
³ÒàÎàKì¹

(C) Îåì³¹ç¡ ³ÒàÎàK¹ ë=ìA¡ "ài¡ºà[–i¡A¡
³ÒàÎàKì¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

17. ëA¡à>ô Î³å‰ìÑ÷àt¡[i¡ šøÅà”z ³ÒàÎàK¹, "ài¡ºà[–i¡A¡
* ®¡à¹t¡ ³ÒàÎàK¹ &Òü [t¡> Ñ‚àì>Òü ëƒJà ™àÚ?

(A) º¸à¤øàl¡¹ ëÑ÷àt¡

(B) Aå¡ì¹à[Å* ëÑ÷àt¡

(C) l¡üšÎàK¹ãÚ ëÑ÷àt¡

(D) š[ÆW¡³à¤àÚå¹ ëÑ÷àt¡

18. Î³åì‰¹ \ìº "[‹A¡à}Å ‰¤ã®è¡t¡ l¡üšàƒà> šà*Úà
™àÚ

(A) Î³å‰ t¡ºìƒÅ ë=ìA¡

(B) ¤àÚå³r¡º ë=ìA¡

(C) Îà³å[‰A¡ \ãì¤¹ ëƒÒà¤ìÅÈ ë=ìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

19. Î³åì‰ "¤[Ñ‚t¡ [¤[®¡Ä º¤ìo¹ š[¹³ào

(A) Î¤Î³Ú &A¡Òü =àìA¡

(B) &A¡Ñ‚à> ë=ìA¡ "àì¹A¡ Ñ‚àì> š[¹¤[t¢¡t¡ ÒÚ

(C) ˜¡tå¡ ">å™àÚã š[¹¤[t¢¡t¡ ÒÚ¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

20. [¤Ñzõt¡ Î³åì‰ šøàW¡ã¹ ‡à¹à "à}[ÅA¡®¡àì¤ ¤à
Î´šèo¢®¡àì¤ [¤[ZáÄ "K®¡ã¹ \º¹à[ÅìA¡ ¤ºà ÒÚ

(A) l¡üšÒùƒ

(B) "¸ài¡º

(C) šøoàºã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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21. Due to salinity of water, the boiling

point of ocean water is

(A) relatively lower than that of

freshwater

(B) relatively higher than that of

freshwater

(C) same

(D) None of the above

22. The proportion of albedo in the

global heat budget is

(A) 50%

(B) 24%

(C) 34%

(D) None of the above

23. Which one of the following refers

to the maximum quantity of water

vapour which the parcel of air can

hold at any given temperature and

pressure?

(A) Relative humidity

(B) Saturation point

(C) Absolute humidity

(D) None of the above

24. Where the Coriolis force is extremely 

weak?

(A) Tropic of Cancer

(B) Tropic of Capricorn

(C) Equator 

(D) None of the above

25. Which of the following forces is

associated with Ferrel’s law?

(A) Pressure-gradient force

(B) Frictional force

(C) Coriolis force

(D) None of the above

21. \ìº¹ º¤ot¡à¹ \>¸ Î³åì‰¹ \ìº¹ Ñ£å¡i¡>àS¡
"àìš[Û¡A¡®¡àì¤

(A) Ñ¬àƒå \ìº¹ tå¡º>àÚ A¡³

(B) Ñ¬àƒå \ìº¹ tå¡º>àÚ ë¤[Å

(C) Ñ¬àƒå \ìº¹ Î³à> =àìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

22. šõ[=¤ã¹ t¡àš ¤àì\ìi¡ "¸àºì¤ìl¡à¹ ">åšàt¡ Òº

(A) 50%

(B) 24%

(C) 34%

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

23. &A¡[i¡ [>[ƒ¢Ê¡ l¡üÌ¡t¡àÚ * W¡àìš &A¡[i¡ [>[ƒ¢Ê¡
"àÚt¡ì>¹ ¤àÚå ™J> Îì¤¢àZW¡ ³àyàÚ \ºãÚ ¤àÍš
‹à¹o A¡ì¹ =àìA¡ t¡J> t¡àìA¡ ¤ºà ÒÚ¡

(A) "àìš[Û¡A¡ "à‰¢t¡à

(B) š[¹šõv¡û¡àS¡

(C) W¡¹³ "à‰¢t¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

24. ëA¡à>ô "e¡ìº ëA¡à[¹*[ºÎ ¤º Î¤ìW¡ìÚ ƒå¤¢º?

(A) A¡A¢¡i¡yû¡à”zãÚ "e¡º

(B) ³A¡¹yû¡à”zãÚ "e¡º

(C) [>¹Û¡ì¹Jà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

25. ëó¡ì¹º-&¹ Îèyìt¡ >ãìW¡¹ ëA¡à>ô ¤º[i¡ ™åv¡û¡
=àìA¡?

(A) ¤àÚåW¡àìš¹ n¡àìº¹ ¤º

(B) QÈ¢o\[>t¡ ¤º

(C) ëA¡à[¹*[ºÎ ¤º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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26. Which latitudinal belt is commonly

known as Doldrum?

(A) 35° North and South

(B) 10° North and South

(C) 45° North and South

(D) None of the above

27. Relatively narrow bands of high

velocity winds in the upper

troposphere are called

(A) Hurricanes

(B) Typhoons

(C) Jet streams

(D) None of the above

28. Extra-tropical cyclones have

(A) eye of cyclone

(B) diverging winds

(C) fronts

(D) None of the above

29. The mediterranean type of climate

receives most of its precipitation

during

(A) summer

(B) winter

(C) the whole year

(D) None of the above

30. In the equatorial type of climate, the

diurnal range of temperature varies

from

(A) 5°C to 14°C

(B) 0°C to 2°C

(C) 15°C to 25°C

(D) None of the above

26. ëA¡à>ô "Û¡à}Å ¤ºÚ[i¡ ‘ël¡àÁö¡à³’ >àì³ š[¹[W¡t¡?

(A) 35° l¡üv¡¹ * ƒ[Û¡o

(B) 10° l¡üv¡¹ * ƒ[Û¡o

(C) 45° l¡üv¡¹ * ƒ[Û¡o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

27. l¡üZW¡ i¡öìšà[Ñ£¡Úàì¹ ÎèÜ- * ‰ç¡t¡-šø¤àÒã Å[v¡û¡Åàºã 
¤àÚåìA¡ ¤ºà ÒÚ

(A) Ò¸à[¹ìA¡>

(B) i¡àÒüóå¡>

(C) ë\i¡ ¤àÚåšø¤àÒ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

28. "[t¡-yû¡à”zãÚ Qèo¢¤àìt¡ ¹ìÚìá

(A) Qèo¢¤àìt¡¹ W¡Ûå¡

(B) [¤A¡ão¢ ¤àÚå

(C) Îã³à”z

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

29. ®è¡³‹¸ÎàK¹ãÚ \º¤àÚå "e¡ìº "[‹A¡ ¤õ[Ê¡šàt¡ ÒÚ

(A) NøãÍ¶A¡àìº

(B) Åãt¡A¡àìº

(C) Îà¹à ¤á¹¤¸àšã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

30. [>¹Û¡ãÚ \º¤àÚåìt¡ íƒ[>A¡ t¡àš³àì>¹ ÒùàÎ-¤õ[‡ý¡¹ 
Òà¹

(A) 5°C ë=ìA¡ 14°C

(B) 0°C ë=ìA¡ 2°C

(C) 15°C ë=ìA¡ 25°C

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

https://applink.adda247.com/d/XhqWf9lSap
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31. The main cause of monsoon climate

is

(A) low temperature

(B) high temperature

(C) seasonal reversal of wind

(D) None of the above

32. The type of rain on the slopes of

Jayantia Hills of Meghalaya is

(A) cyclonic rain

(B) convectional rain

(C) orographic rain

(D) None of the above

33. The condition favourable for

precipitation is

(A) low moisture content

(B) high moisture content

(C) cooling of air

(D) None of the above

34. Leaching of soil is caused by

(A) removal of debris by running

water

(B) changes in the soil through

organic activity

(C) removal of organic matter

(D) removal of soluble matter by

percolating water

35. Pedalfer soils are rich in

(A) aluminium and iron

(B) iron and calcium

(C) iron and sodium

(D) None of the above

31. ë³ïÎå³ã \º¤àÚå¹ šø‹à> A¡à¹o Òº

(A) A¡³ l¡üÌ¡t¡à

(B) ë¤[Å l¡üÌ¡t¡à

(C) ¤àÚå¹ ¤à;Î[¹A¡ šÆW¡àƒôK³>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

32. ë³QàºìÚ¹ \Ú”zãÚà š¤¢ìt¡¹ n¡àìº ë™ ¤õ[Ê¡šàt¡ ÒÚ 
t¡àìA¡ ¤ºà ÒÚ

(A) Qèo¢¤àt¡ ¤õ[Ê¡

(B) š[¹W¡º> ¤õ[Ê¡

(C) íÅìºà;ìÛ¡š ¤õ[Ê¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

33. "‹@ìÛ¡šìo¹ l¡üšì™àKã "¤Ñ‚à Òº

(A) ¤àt¡àìÎ \ºãÚ ¤àìÍš¹ š[¹³ào A¡ì³ ™à*Úà

(B) ¤àt¡àìÎ \ºãÚ ¤àìÍš¹ š[¹³ào ë¤[Å Ò*Úà

(C) ¤àt¡àìÎ¹ Åãt¡ºt¡à šøà[œ¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

34. ³õ[v¡A¡à¹ [>ÍHàÅì>¹ A¡à¹o Òº

(A) >ƒã ‡à¹à ‰ì¤¸¹ "šÎà¹o

(B) í\[¤A¡ šø[yû¡Úà ‡à¹à ³õ[v¡A¡à¹ š[¹¤t¢¡>

(C) í\[¤A¡ šƒàì=¢¹ "šÎà¹o

(D) "®¡¸”z¹¤àÒã \º ‡à¹à ‰¤ã®è¡t¡ šƒàì=¢¹
Ñ‚à>à”z¹

35. ëšl¡àºó¡à¹ ³õ[v¡A¡à

(A) &ºå[³[>Úà³ * ëºàÒà Î³õ‡ý¡

(B) ëºàÒà * A¡¸àº[ÎÚà³ Î³õ‡ý¡

(C) ëºàÒà * ëÎà[l¡Úà³ Î³õ‡ý¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

https://applink.adda247.com/d/XhqWf9lSap
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36. Conifer trees flourish in

(A) pedalfer soil

(B) pedocal soil

(C) laterite soil

(D) None of the above

37. The process of energy conversion

from solar heat energy to chemical

energy is known as

(A) photosynthesis

(B) transpiration

(C) radiation

(D) None of the above

38. The term ‘ecosystem’ was first used

by

(A) W. M. Davis

(B) E. P. Odum

(C) A. G. Tansley

(D) None of them

39. The main cause for the large-scale

destruction of savanna vegetation is

(A) overgrazing

(B) transformation of forests into

pastures

(C) conversion of forestland into

agricultural land

(D) None of the above

40. Which of the following derives their

energy from herbivores?

(A) Autotrophs

(B) Carnivores

(C) Omnivores

(D) None of the above

36. Î¹º¤K¢ãÚ ¤õìÛ¡¹ "à[‹A¡¸ ëƒJà ™àÚ

(A) ëšl¡àºó¡à¹ ³õ[v¡A¡àÚ

(B) ëšìl¡àA¡¸àº ³õ[v¡A¡àÚ

(C) º¸àìi¡¹àÒüi¡ ³õ[v¡A¡àÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

37. ëÎï¹ Å[v¡û¡ ë=ìA¡ ¹àÎàÚ[>A¡ Å[v¡û¡ìt¡ š[¹¤[t¢¡t¡
Ò*Úà¹ š‡ý¡[t¡[i¡ìA¡ ¤ºà ÒÚ

(A) ÎàìºàA¡Î}ìÅÃÈ

(B) šøìÑ¬ƒ>

(C) [¤[A¡¹o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

38. ‘¤àÑñt¡”|’ Å¦[i¡ šø=³ ¤¸¤Òà¹ A¡ì¹>

(A) l¡¤Ãå. &³. ël¡[®¡Î

(B) Òü. [š. *l¡à³

(C) &. [\. i¡¸àXìº

(D) &òìƒ¹ ëA¡l¡üÒü >>

39. Îà®¡à>à tõ¡o®è¡[³¹ ¤¸àšA¡ [¤>àìÅ¹ A¡à¹o Òº

(A) "[t¡[¹v¡û¡šÇ¡W¡à¹o

(B) ¤>®è¡[³¹ W¡à¹o®è¡[³ìt¡ ¹ê¡šà”z¹

(C) ¤>®è¡[³ìA¡ Aõ¡[È\[³ìt¡ ¹ê¡šà”z¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

40. tõ¡oì®¡à\ã šøàoã ë=ìA¡ A¡à¹à t¡àìƒ¹ Å[v¡û¡ Î}NøÒ
A¡ì¹ =àìA¡?

(A) Ñ¬ì®¡à\ã šøàoã

(B) ³à}ÎàÅã šøàoã

(C) Î¤¢®å¡A¡ šøàoã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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41. Which one of the following

constitutes the second trophic level

of food web?

(A) Omnivores

(B) Carnivores

(C) Herbivores

(D) None of the above

42. Which one of the following is

the uppermost sublayer of the

thermosphere?

(A) Exosphere

(B) Troposphere

(C) Tropopause

(D) None of the above

43. Which law of thermodynamics states 

that there is always a loss of energy

in any transfer of energy?

(A) First

(B) Second

(C) Third

(D) None of the above

44. Which one of the following is known

as closed savanna?

(A) Woodland savanna

(B) Shrub savanna

(C) Grass savanna

(D) Tree savanna

45. Which one of the following is caused

by faulty method of irrigation?

(A) Wind erosion

(B) Gully erosion

(C) Salinization

(D) None of the above

41. Jàƒ¸šø¤àìÒ¹ [‡t¡ãÚ Jàƒ¸Ñzì¹ A¡à¹à "¤[Ñ‚t¡?

(A) Î¤¢®å¡A¡ šøàoã

(B) ³à}ÎàÅã šøàoã

(C) tõ¡oì®¡à\ã šøàoã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

42. [>ì³—àv¡û¡ ëA¡à>[i¡ =àì³¢à[Ñ£¡Úàì¹¹ Î¤ìW¡ìÚ l¡üšì¹¹ 
l¡üšÑz¹?

(A) &ìGà[Ñ£¡Úà¹

(B) i¡öìšà[Ñ£¡Úà¹

(C) i¡öìšàš\

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

43. =àì³¢àl¡àÚ>à[³ìG¹ ëA¡à>ô [>Ú³à>åÎàì¹ ¤ºà ÒÚ
ë™, ë™-ëA¡à> Å[v¡û¡¹ "àƒà>-šøƒàì>Òü Å[v¡û¡Û¡Ú
ÒìÚ =àìA¡?

(A) šø=³

(B) [‡t¡ãÚ

(C) tõ¡t¡ãÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

44. [>³—[º[Jt¡ ëA¡à>ô "e¡º[i¡ìA¡ ¤‡ý¡ Îà®¡à>à ¤ºà
ÒÚ?

(A) Îà®¡à>à A¡àË¡ "e¡º

(B) Îà®¡à>à P¡Âµàe¡º

(C) Îà®¡à>à tõ¡oàe¡º

(D) Îà®¡à>à ¤õÛ¡àe¡º

45. >ãìW¡¹ ëA¡à>[i¡ ëÎW¡A¡àì™¢¹ "ššøìÚàìK¹ ó¡ìº
Qìi¡ =àìA¡?

(A) ¤àÚå¹ Û¡ÚA¡à™¢

(B) Kà[º Û¡Ú

(C) º¤ot¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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46. Which one of the following

extinctions of biodiversity was due

to human modifications of nature?

(A) Quarternary extinction

(B) Cretaceous extinction

(C) Triassic extinction

(D) None of the above

47. Which one of the following is

correct?

(A) Taiga—Sclerophyll ecosystem

(B) Tropical biome—Boreal forest

(C) Mediterranean biome—Decidu-

ous forest

(D) Marine biome—Phytoplankton

48. B-horizon is the zone of

(A) illuviation

(B) deposition and erosion

(C) original materials

(D) None of the above

49. Eluviation process is meant for

(A) depositing the soil particles in

the subsoil layer

(B) transporting the soil particles in 

B-horizon

(C) removing the particles from

upper layer of the soil

(D) None of the above

50. Tropophytes can stand against

(A) high temperature

(B) chilly climate

(C) alternate deficit and surplus

moisture condition

(D) None of the above

46. ³à>åÈ A¡tõ¢¡A¡ šøAõ¡[t¡¹ š[¹¤t¢¡ì> ëA¡à>ô [¤ºå[œ¡[i¡
\ã¤î¤[W¡ìy¸ Qìi¡[áº?

(A) ëA¡àÚài¢¡à¹>à¹ã [¤ºå[œ¡

(B) ëyû¡ìi¡[ÅÚàÎ [¤ºå[œ¡

(C) i¡öàÚà[ÎA¡ [¤ºå[œ¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

47. >ãìW¡¹ ëA¡à>[i¡ [k¡A¡?

(A) ít¡Kà—ëÑAÃ¡ì¹à[ó¡º ¤àÑñt¡”|

(B) yû¡à”zãÚ ¤àìÚà³—ë¤à[¹Úàº ¤>®è¡[³

(C) ®è¡³‹¸ÎàK¹ãÚ ¤àìÚà³—šo¢ì³àW¡ã "¹o¸

(D) Îà³å[‰A¡ ¤àìÚà³—ó¡àÒüìi¡àšÃàS¡i¡>

48. ³õ[v¡A¡à¹ B-Ñz¹[i¡ Òº

(A) Î[e¡t¡ Ñz¹

(B) Îe¡Ú * Û¡Ú

(C) "à[ƒ l¡üšàƒà>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

49. ë‹ït¡A¡¹o šø[yû¡Úà[i¡ Òº

(A) "”z@³õ[v¡A¡àÚ ³õ[v¡A¡à A¡oà¹ Îe¡Ú

(B) B-Ñzì¹ ³õ[v¡A¡à¹ l¡üšàƒàì>¹ ¤Ò>

(C) ³õ[v¡A¡à¹ l¡üšì¹¹ Ñz¹ ë=ìA¡ l¡üšàƒàì>¹
"šÎà¹o

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

50. i¡öìšàó¡àÒüi¡ ë™ š[¹ì¤ìÅ l¡üš™åv¡û¡ t¡à Òº

(A) l¡üZW¡ t¡àš³àyà

(B) "[t¡Åãt¡º \º¤àÚå

(C) "à‰¢t¡à¹ š™¢à[Út¡ l¡ü‡õv¡ * Qài¡[t¡\[>t¡
š[¹ì¤Å

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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51. The hot dust laden wind blowing

from Sahara desert to

mediterranean region is called

(A) Chinook

(B) Fohn

(C) Sirocco

(D) None of the above

52. Fiords are very typical of the

(A) Alaskan Coast

(B) Soarish Coast

(C) Norwegian Coast

(D) None of the above

53. Tsunamis are caused by the

(A) volcanic eruption

(B) earthquake

(C) changes in sea level

(D) None of the above

54. International migrations have

declined because

(A) it is of no longer economical

proposition

(B) various countries have imposed

strict restriction of immigration

(C) the transport cost has escalated

(D) None of the above

55. Two regions of similar environment

can have different degrees of

population concentration because

(A) the two have different racial

structure

(B) the two have different

perception about density

(C) the two have different history of

settlement

(D) None of the above

51. ÎàÒà¹à ³¹ç¡®è¡[³ ë=ìA¡ ®è¡³‹¸ÎàK¹ãÚ "e¡ìº
šø¤à[Òt¡ K¹³ * Ç¡ÍH ‹è[ºA¡oà š[¹¤à[Òt¡ ¤àÚåìA¡
¤ºà ÒÚ

(A) [W¡>åA¡

(B) ó¡>ô

(C) [Îì¹àìB¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

52. [ó¡ìÚàl¢¡ ëƒJà ™àÚ

(A) "àºàÑHà l¡üšAè¡ìº

(B) ëÎàÚà[¹Å l¡üšAè¡ìº

(C) >¹*ìÚ l¡üšAè¡ìº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

53. Îå>à³ã¹ A¡à¹o Òº

(A) "àìN—Ú šƒàì=¢¹ [¤ìÑ£¡à¹o

(B) ®è¡[³A¡´š

(C) Î³å‰t¡ìº¹ š[¹¤t¢¡>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

54. "à”z\¢à[t¡A¡ š[¹¤øà\> ÒùàìÎ¹ A¡à¹o Òº

(A) &[i¡ "à¹ "=¢î>[t¡A¡ ³à>ƒr¡ >Ú

(B) [¤[®¡Ä ëƒÅP¡[º¹ š[¹¤øà\ì> A¡Øl¡à
[¤[‹[>ìÈ‹ "àì¹àš

(C) ™àt¡àÚàìt¡¹ J¹W¡ ¤õ[‡ý¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

55. &A¡Òü¹A¡³ š[¹ì¤ìÅ¹ ƒå[i¡ "e¡ìº \>Î}J¸à¹
t¡à¹t¡³¸ ëƒJà ™àÚ A¡à¹o

(A) ' ƒå[i¡ "e¡ìº \à[t¡Kt¡ Kk¡ì>¹ šà=¢A¡¸
¹ìÚìá

(B) \>Q>Œ Î´šìA¢¡ ƒå[i¡ "e¡ìº¹ [®¡Ä
ƒõ[Ê¡®¡[U

(C) ƒå[i¡ "e¡ìº¹ \>¤Î[t¡¹ Òü[t¡ÒàìÎ¹
[¤[®¡Ät¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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56. Which is the most crowded area of

the world?

(A) Wheat-growing area

(B) Cotton-growing area

(C) Rice-growing area

(D) None of the above

57. ‘Veld’, ‘Buffalo’, and ‘Bunch’ are the

names of grasses found usually in

(A) rainy tropical regions

(B) dry continental regions

(C) temperate highland regions

(D) None of the above

58. Optimum population is calculated

as par

(A) population and resources

(B) population and his potentiality

(C) population and food

(D) None of the above

59. The most important ecological factor 

that determines the distribution of

population is

(A) mortality rate

(B) climate

(C) fertility of land

(D) None of the above

60. Humid farming depends on

(A) rainfall that exceeds 20¢ ¢

(B) rainfall that exceeds 30¢ ¢

(C) rainfall exceeding 15¢ ¢

(D) None of the above

56. šõ[=¤ã¹ Î¤¢àìšÛ¡à Q>Î[Ä[¤Ê¡ "e¡º ëA¡à>[i¡?

(A) K³ l¡ü;šàƒA¡ "e¡º

(B) tå¡ºà l¡ü;šàƒA¡ "e¡º

(C) ‹à> l¡ü;šàƒA¡ "e¡º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

57. ‘ë®¡Á¡’, ‘¤àìó¡ìºà’ * ‘¤àe¡’ tõ¡o®è¡[³ ëƒJìt¡
šà*Úà ™àÚ

(A) yû¡à”zãÚ ¤õ[Ê¡ "e¡ìº

(B) Ç¡ÍH ³ÒàìƒÅãÚ "e¡ìº

(C) >à[t¡Åãìt¡àÌ¡ l¡üZW¡®è¡[³ìt¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

58. A¡à³¸ \>Î}J¸à Ko>à A¡¹à ÒÚ ë™ [ÒìÎì¤, t¡à
Òº

(A) ³à>åÈ * Î´šƒ

(B) ³à>åÈ * t¡à¹ A¡à™¢A¡¹ã Û¡³t¡à

(C) ³à>åÈ * Jàƒ¸

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

59. \>Î}J¸à ¤si¡ì> P¡¹ç¡Œšèo¢ ¤àÑñt¡à[”|A¡ l¡üšàƒà>
[>‹¢à¹A¡ Òº

(A) ³¹oÅãºt¡à¹ Òà¹

(B) \º¤àÚå

(C) ®è¡[³¹ l¡ü¤¢¹t¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

60. "à‰¢ Aõ¡[È [>®¢¡¹ A¡ì¹

(A) 20¢ ¢-¹ ë¤[Å ¤õ[Ê¡šàt¡™åv¡û¡ "e¡ìº 

(B) 30¢ ¢-¹ ë¤[Å ¤õ[Ê¡šàt¡™åv¡û¡ "e¡ìº 

(C) 15¢ ¢-¹ ë¤[Å ¤õ[Ê¡šàt¡™åv¡û¡ "e¡ìº 

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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61. Plantation comes in the category of 

(A) horticulture

(B) animal husbandry

(C) monoculture

(D) None of the above

62. In Indonesia, shifting cultivation is

known as

(A) Caingin

(B) Ladang

(C) Milpa

(D) None of the above

63. In which one of the following

farming types livestock holds the

prime position?

(A) Shifting cultivation

(B) Mixed farming

(C) Intensive farming

(D) None of the above

64. In which of the following farming

types, capital input is the highest?

(A) Intensive farming

(B) Mixed farming

(C) Extensive farming

(D) None of the above

65. Which one of the following trees has

been the chief source of quinine

required for eradication of malaria?

(A) Zapote tree

(B) Cinchona tree

(C) Chestnut tree

(D) None of the above

61. ¤à[KW¡à "à¤àƒ ë™ ëÅøoã®è¡v¡û¡ t¡à Òº

(A) l¡üƒ¸à>šàº> [¤ƒ¸à

(B) šÇ¡šàº>

(C) &A¡ó¡Îºã ¤¸¤Ñ‚à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

62. Òüì–ƒàì>[ÅÚàìt¡ Ñ‚à>à”z¹ Aõ¡[ÈìA¡ ¤ºà ÒÚ

(A) ëA¡Òü>[K>

(B) ºàl¡à}

(C) [³ºôšà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

63. >ãìW¡¹ ëA¡à>ô Aõ¡[È š‡ý¡[t¡ìt¡ šÇ¡šàºì>¹ ®è¡[³A¡à
P¡¹ç¡Œšèo¢?

(A) Ñ‚à>à”z¹ Aõ¡[È

(B) [³ÅøW¡àÈ š‡ý¡[t¡

(C) [>[¤Øl¡ Aõ¡[È

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

64. [>³—[º[Jt¡ ëA¡à>ô Aõ¡[È š‡ý¡[t¡ìt¡ ³èº‹> [>ìÚà\>
Î¤¢à[‹A¡?

(A) [>[¤Øl¡ Aõ¡[Èìt¡

(B) [³Åø Aõ¡[Èìt¡

(C) ¤¸àšA¡ Aõ¡[Èìt¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

65. >ãìW¡ l¡ü[À[Jt¡ ëA¡à>ô ¤õÛ¡[i¡¡ ³¸àìº[¹Úà [>ì¹à‹A¡
Aå¡Òü>àÒü> l¡ü;šàƒì>¹ ³åJ¸ l¡ü;Î?

(A) \àìšài¡ ¤õÛ¡

(B) [Î>ôìA¡à>à ¤õÛ¡

(C) ëW¡Ê¡>ài¡ ¤õÛ¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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66. The important commercial fishing

ground which supplies the largest

amount of fishes in the world, is

(A) Northwest Atlantic Coast

(B) Northeast Atlantic Coast

(C) Northwest Pacific Coast

(D) None of the above

67. With which among the following,

‘triangle concept’ of Industrial

Location Theory is associated?

(A) Smith

(B) Von-Thünen

(C) Alfred Weber

(D) None of the above

68. Chiplima hydel power plant is built

on which river?

(A) Mahanadi

(B) Krishna

(C) Sarabati

(D) None of the above

69. For the construction of dam, which

one is necessary?

(A) Broad valley

(B) Narrow valley

(C) Steep valley

(D) None of the above

70. Atomic power is the source of

(A) uranium

(B) platinum

(C) silver

(D) None of the above

66. šõ[=¤ã¹ P¡¹ç¡Œšèo¢ ³;Î¸W¡à¹o ëÛ¡y, ë™[i¡¡
Î¤¢à[‹A¡ ³;Î¸ Î¹¤¹àÒ A¡ì¹ =àìA¡, ëÎ[i¡ Òº

(A) l¡üv¡¹-š[ÆW¡³ "ài¡ºà[–i¡A¡ l¡üšAè¡º

(B) l¡üv¡¹-šè¤¢ "ài¡ºà[–i¡A¡ l¡üšAè¡º

(C) l¡üv¡¹-š[ÆW¡³ šøÅà”z ³ÒàÎàK¹ãÚ l¡üšAè¡º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

67. [Å¿ìA¡ì–ƒø¹ "¤Ñ‚à>Kt¡ ‘[yìA¡ào t¡w[i¡’ A¡à¹?

(A) [Ñ¶=

(B) ®¡>-=åì>>

(C) "àºìóø¡l¡ *ìÚ¤à¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

68. [W¡š[º³à \º[¤ƒå¸; ëA¡–ƒø[i¡ Ñ‚à[št¡ ÒÚ ëA¡à>ô >ƒã¹ 
l¡üš¹?

(A) ³Òà>ƒã

(B) Aõ¡Ì¡à

(C) Î¹à¤t¡ã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

69. ¤òà‹ šøÑñt¡ A¡¹ìt¡ ëA¡à>[i¡ šøìÚà\>?

(A) šøÅÑz l¡üšt¡¸A¡à

(B) Î}A¡ão¢ l¡üšt¡¸A¡à

(C) JòàØl¡à l¡üšt¡¸A¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

70. "ào[¤A¡ Å[v¡û¡¹ l¡ü;Î Òº

(A) Òül¡üì¹[>Úà³

(B) šÃà[i¡>à³

(C) ¹ê¡šà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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71. The Headquarters of Tropical Forest

Research Institute is at

(A) Dehra Dun

(B) Simla

(C) Jabbalpur

(D) None of the above

72. Which of the following is the hardest 

mineral?

(A) Tungsten

(B) Gold

(C) Diamond

(D) None of the above

73. The best known aspect of Green

Revolution is

(A) the development of agricultural

land

(B) the development of high-yielding 

varieties of crops

(C) the development of irrigational

facilities

(D) None of the above

74. International trade is mostly

governed by

(A) regional specialization of

production

(B) purchasing power of people

(C) friendly relationship with the

countries

(D) None of the above

75. Which one of the following features

is not the characteristic of developed 

countries of the world?

(A) Low proportion of employment

in agricultural activity

(B) High annual rate of growth of

population

(C) High literacy rate

(D) None of the above

71. i¡ö[šA¡àº ó¡ì¹Ð¡ [¹ÎàW¢¡ Òü>[Ð¡[i¡l¡üi¡-&¹ šø‹à>
A¡à™¢àºÚ[i¡¹ "¤[Ñ‚t¡

(A) ëƒ¹àƒåì>

(B) [Î³ºàÚ

(C) \¤ÿ¤ºšåì¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

72. [>³—[º[Jt¡P¡[º¹ ³ì‹¸ Î¤ìW¡ìÚ A¡[k¡> J[>\ šƒà=¢ 
ëA¡à>[i¡?

(A) i¡à}ìÐ¡>

(B) ëÎà>à

(C) Òã¹A¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

73. Î¤å\ [¤šÃì¤¹ P¡¹ç¡Œšèo¢ [ƒA¡[i¡ Òº

(A) Aõ¡[ÈìÛ¡ìy¹ šøÎà¹

(B) "[‹A¡ ó¡º>Åãº ÅìÎ¸¹ šøA¡à¹

(C) ëÎW¡A¡àì™¢¹ [¤A¡àÅ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

74. "à”z\¢à[t¡A¡ ¤à[o\¸ [¤ìÅÈ®¡àì¤ š[¹W¡à[ºt¡ ÒÚ

(A) l¡ü;šàƒì>¹ "àe¡[ºA¡ [¤ìÅÈt¡à ‡à¹à

(B) ³à>åìÈ¹ yû¡ÚÛ¡³t¡à ‡à¹à

(C) [¤[®¡Ä ëƒìÅ¹ ÎìU ¤Þêå¡Œšèo¢ Î´šìA¢¡¹ ‡à¹à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

75. [>ìW¡¹ ëA¡à>[i¡ l¡üÄt¡ ëƒÅP¡[º¹ í¤[ÅìÊ¡¸¹
"”z®¢å¡v¡û¡ >Ú?

(A) Aõ¡[ÈìÛ¡ìy W¡àA¡[¹¹ "à>åšà[t¡A¡ ÒùàÎ

(B) \>Î}J¸à¹ l¡üZW¡ ¤à[È¢A¡ ¤õ[‡ý¡¹ Òà¹

(C) ÎàÛ¡¹t¡à¹ l¡üZW¡ Òà¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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76. High density of population in more

developed nations in Europe is

associated with

(A) an effective use of land

(B) high degree of urbanization

(C) long history of settlement

(D) None of the above

77. Which one of the following is the

centre of gravity of population of an

area?

(A) Mean point

(B) Median point

(C) Point of minimum aggregate

travel

(D) None of the above

78. Which one of the following is the

ratio between total population and

total area?

(A) Physiological density

(B) Agricultural density

(C) General density

(D) None of the above

79. In agrarian societies, which index

is treated as better index for

measuring degree of population

pressure?

(A) Agricultural density

(B) Nutritional density

(C) Arithmetic density

(D) None of the above

80. The term ‘mature town’ has been

used in which type of classification

of urban settlement?

(A) Hierarchical classification

(B) Functional classification

(C) Morphological classification

(D) None of the above

76. Òül¡üì¹àìš¹ l¡üÄt¡ ëƒÅP¡[ºìt¡ \>Q>Œ ë¤[Å
Ò¤à¹ ÎìU ™åv¡û¡ ¹ìÚìá

(A) \[³¹ A¡à™¢A¡à¹ã ¤¸¤Òà¹

(B) l¡üZW¡ ³àyàÚ ëšï¹àÚ>

(C) \>¤Î[t¡¹ ƒãQ¢ Òü[t¡ÒàÎ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

77. &A¡[i¡ "e¡ìº¹ \>Î}J¸à¹ ëA¡–ƒø[¤–ƒå ëA¡à>[i¡?

(A) KØl¡[¤–ƒå/³‹¸A¡[¤–ƒå

(B) ³‹¸³à[¤–ƒå

(C) Î¤¢àìšÛ¡à A¡³ ë³ài¡ ™àt¡àÚàìt¡¹ ëA¡–ƒø[¤–ƒå

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

78. ë³ài¡ \>Î}J¸à * ë³ài¡ "àÚt¡ì>¹ ">åšàt¡
ëA¡à>[i¡?

(A) Åà¹ã[¹A¡ Q>Œ

(B) Aõ¡[È\ Q>Œ

(C) Îà‹à¹o Q>Œ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

79. Aõ¡[È-[>®¢¡¹ Î®¡¸t¡àÚ \>Î}J¸à¹ W¡àš ë¤àc¡àìt¡
ëA¡à>ô ÎèW¡A¡[i¡ìA¡ l¡ü;Aõ¡Ê¡ ¤ìº ‹¹à ÒÚ?

(A) Aõ¡[È\ Q>Œ

(B) ëšï[Ê¡A¡ Q>Œ

(C) Kà[o[t¡A¡ Q>Œ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

80. ëšï¹ \>¤Î[t¡¹ ëA¡à>ô ëÅøoã[¤®¡àìK¹ ³ì‹¸
‘šèo¢àU ÅÒ¹’ A¡=à[i¡ ¤¸¤Òê¡t¡ ÒÚ?

(A) š™¢àÚyû¡[³A¡ ëÅøoã[¤®¡àK

(B) A¡à™¢à¤ºã Î}[ÅÃÊ¡ ëÅøoã[¤®¡àK

(C) Kk¡>Kt¡ ëÅøoã[¤®¡àK

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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81. The rural settlement of the Gangetic

plains is known as

(A) water point settlement

(B) agglomerated settlement

(C) dry point settlement

(D) None of the above

82. Nucleated rural settlements are

mostly common in

(A) arid zones

(B) deltas

(C) mountainous region

(D) None of the above

83. First stage of demographic

transition model is

(A) high birthrate and high death

rate

(B) high birthrate and low death

rate

(C) high death rate and low birth-

rate

(D) None of the above

84. What is the most vital factor that

distinguishes between rural and

urban settlements?

(A) Functions

(B) Social organization

(C) Social mobility

(D) None of the above

85. Dry point settlements are most

common in

(A) upland plains

(B) deltas

(C) mountains

(D) None of the above

81. KàìUÚ Î³®è¡[³¹ Nøà³ão \>¤Î[t¡ìA¡ ¤ºà ™àÚ

(A) \ºìA¡[–ƒøA¡ \>¤Î[t¡

(B) [šr¡ã®è¡t¡ \>¤Î[t¡

(C) Ç¡ÍH "e¡ºìA¡[–ƒøA¡ \>¤Î[t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

82. [šr¡àAõ¡[t¡ Nøà³ão \>¤Î[t¡ ëƒJà ™àÚ

(A) ³¹ç¡ "e¡ìº

(B) ¤-‡ãš "e¡ìº

(C) šàÒà[Øl¡ "e¡ìº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

83. \>Î}J¸à¹ [¤¤t¢¡> t¡ìw¹ šø=³ šì¤¢¹ í¤[ÅÊ¡¸
Òº

(A) l¡üZW¡ \–µÒà¹ * l¡üZW¡ ³õtå¡¸Òà¹

(B) l¡üZW¡ \–µÒà¹ * [>³— ³õtå¡¸Òà¹

(C) l¡üZW¡ ³õtå¡¸Òà¹ * [>³— \–µÒà¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

84. Nøà³ão * ëšï¹ \>¤Î[t¡¹ í¤[ÅìÊ¡¸¹ [¤[®¡Ät¡à
ëA¡à=àÚ?

(A) A¡à™¢à¤ºã¹ ëÛ¡ìy

(B) Îà³à[\A¡ šø[t¡Ë¡à>Kt¡ ëÛ¡ìy

(C) Îà³à[\A¡ W¡ºàW¡ºKt¡ ëÛ¡ìy

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

85. Ç¡ÍH "e¡ºìA¡[–ƒøA¡ \>¤Î[t¡ Îà‹à¹ot¡ ëƒJà ™àÚ

(A) l¡òüWå¡ Î³®è¡[³ìt¡

(B) ¤-‡ãìš

(C) šàÒàìØl¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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86. In Tripura, Research Station of

Horticulture is located at

(A) Nalakata

(B) Nagichhara

(C) Lembucherra

(D) None of the above

87. The first gas-based power station of

Tripura is in

(A) Baramura

(B) Dambur

(C) Palatana

(D) None of the above

88. In Tripura, where is the main solar

plant located?

(A) Jampui

(B) Ramchandra Nagar

(C) Rokhia

(D) None of the above

89. Where is Khowai barrage located?

(A) Chakmaghat in Teliamura

(B) Maharani

(C) Amarpur

(D) None of the above

90. Zonal soil type of Peninsular India

belongs to

(A) red soil

(B) yellow soil

(C) black soil

(D) None of the above

86. [yšå¹à¹ Ò[i¡¢A¡àºW¡à¹ [¹ÎàW¢¡ ëÐ¡Å>[i¡¹ "¤Ñ‚à>
Òº

(A) >àºàA¡ài¡à

(B) >à[KáØl¡à

(C) ëº´¬åáØl¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

87. [yšå¹à¹ šø=³ K¸àÎ[®¡[v¡A¡ Å[v¡û¡ìA¡–ƒø[i¡¹ "¤Ñ‚à>
Òº

(A) ¤Øl¡³åØl¡à

(B) l¡´¬å¹

(C) šàºài¡à>à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

88. [yšå¹à¹ šø‹à> ëÎï¹ìA¡–ƒø[i¡ ëA¡à=àÚ "¤[Ñ‚t¡?

(A) \´šåÒü

(B) ¹à³W¡–ƒø>K¹

(C) ¹ç¡[JÚà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

89. ëJàÚàÒü ¤¸àì¹\[i¡ ëA¡à=àÚ "¤[Ñ‚t¡?

(A) ët¡[ºÚà³åØl¡à¹ W¡àA¡³àQìi¡

(B) ³Òà¹àoãìt¡

(C) "³¹šåì¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

90. l¡üš‡ã[šÚ ®¡à¹ìt¡ "àe¡[ºA¡ ³õ[v¡A¡à Òº

(A) ºàº ³õ[v¡A¡à

(B) šãt¡ ³õ[v¡A¡à

(C) Aõ¡Ì¡ ³õ[v¡A¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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91. Which one of the following mountain 

chains has two dissimilar types of

vegetation on its two slopes?

(A) Aravallis 

(B) Vindhyas

(C) Western Ghats

(D) None of the above

92. The greatest potential for the

generation of tidal power in India is

available in the

(A) Malabar Coast

(B) Konkan Coast

(C) Gujarat Coast

(D) None of the above

93. Choropleth maps show the

(A) density of population

(B) distribution of population

(C) landuse pattern

(D) None of the above

94. Contour of equal spacing represents

(A) gentle slope

(B) steep slope

(C) uniform slope

(D) None of the above

95. Which of the following is positional

in nature?

(A) Mean

(B) Mode

(C) Median

(D) None of the above

91. >ãìW¡ l¡ü[À[Jt¡ ëA¡à>ô š¤¢t¡ìÅøoã¹ ƒå[i¡ ‹àìš ƒåÒü
‹¹ì>¹ [¤š¹ãt¡‹³¢ã l¡ü[Š±ƒ ëƒJà ™àÚ?

(A) "à¹à¤Àã

(B) [¤Þê¡¸

(C) š[ÆW¡³Qài¡¡

(D) l¡üšì¹¹ ëA¡à>[i¡ìt¡Òü >Ú

92. ®¡à¹ìt¡¹ ë™ "e¡ìº ë\àÚà¹-®¡ài¡à Å[v¡û¡¹
Î¤¢àìšÛ¡à "[‹A¡ Î´±à¤>à ¹ìÚìá t¡à "¤[Ñ‚t¡

(A) ³àºà¤à¹ l¡üšAè¡ìº

(B) ëA¡àS¡> l¡üšAè¡ìº

(C) P¡\¹ài¡ l¡üšAè¡ìº

(D) l¡üšì¹¹ ëA¡à>[i¡ìt¡Òü >Ú

93. ëA¡àì¹àìšÃ= ³à>[W¡ìy¹ ÎàÒàì™¸ ëƒJàì>à ÒÚ

(A) \>Q>Œ

(B) \>ÎJ¸à¹ ¤si¡>

(C) \[³¹ ¤¸¤Òàì¹¹ >Aô¡Îà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

94. Î³ƒè¹¤t¡¢ã Îì³àÄ[t¡ ë¹Jà¹ "¤Ñ‚à> ë™ ®è¡[³¹ê¡ìš¹ 
šøA¡àÅ Qi¡àÚ, t¡à Òº

(A) ³õƒå n¡àº

(B) t¡ãÝ¡ n¡àº

(C) &A¡¹ê¡š n¡àº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

95. >ãìW¡¹ ëA¡à>[i¡ šøAõ¡[t¡Kt¡®¡àì¤ Ñ‚à> Î´¬Þê¡ãÚ?

(A) KØl¡ 

(B) ¤×ºA¡

(C) ³‹¸³à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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96. Which one of the following is

correct?

(A) Dot map—Population distri-

bution

(B) Chorochromatic map—Density

of population

(C) Contour—Distribution of

temperature

(D) Salinity—Isobars

97. Streams perform their work

‘erosion’ by

(A) saltation

(B) corrosion

(C) suspension

(D) None of the above

98. Sand dunes are the results of

(A) sand particles brought by wind

(B) dust particles brought by wind

(C) pebbles and gravels brought by

water

(D) None of the above

99. Who stated, ‘Landscape is the

function of structure, process and

stage’?

(A) Penck

(B) L. C. King

(C) W. M. Davis

(D) None of them

100. Earthquake waves are generally

grouped into

(A) five categories

(B) two categories

(C) three categories

(D) None of the above

96. >ãìW¡¹ ëA¡à>[i¡ Î[k¡A¡?

(A) [¤–ƒå ³à>[W¡y—\>Î}J¸à¹ [¤Ñzà¹

(B) ëA¡àì¹àìyû¡à³¸à[i¡A¡ ³à>[W¡y—\>Q>Œ

(C) Îì³àÄ[t¡ì¹Jà—t¡àš³àyà¹ [¤Ñzà¹

(D) º¤ot¡à—Î³W¡àšì¹Jà

97. >ƒã¹ Û¡ÚA¡à™¢ Îà[‹t¡ ÒÚ

(A) º´£¡ƒà> šø[yû¡ÚàÚ

(B) "¤QÈ¢ šø[yû¡ÚàÚ

(C) ®¡àÎ³à> šø[yû¡ÚàÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

98. ¤à[ºÚà[Øl¡ ít¡¹ã ÒÚ

(A) ¤àÚå ‡à¹à "à>ãt¡ ¤à[ºA¡oà ‡à¹à

(B) ¤àÚå ‡à¹à "à>ãt¡ ‹è[ºA¡oà ‡à¹à

(C) \º ‡à¹à "à>ãt¡ >å[Øl¡ * šà=¹ ‡à¹à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

99. ‘®è¡-ƒõÅ¸à¤ºã Ò’º Kk¡>, šø[yû¡Úà * "¤Ñ‚à¹
"ìšÛ¡A¡¡ú’ l¡ü[v¡û¡[i¡ A¡à¹?

(A) ëšS¡

(B) &º. [Î. [A¡}

(C) l¡¤Ãå. &³. ël¡[®¡Îô

(D) &òìƒ¹ ëA¡l¡üÒü >>

100. ®è¡[³A¡´š t¡¹UP¡[ºìA¡ ®¡àK A¡¹à ÒÚ

(A) šòàW¡ ®¡àìK

(B) ƒåÒü ®¡àìK

(C) [t¡> ®¡àìK

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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101. A stony desert is called

(A) erg

(B) reg

(C) hammada

(D) None of the above

102. The floor of the Atlantic Ocean is

mostly covered by the ooze of

(A) Globigerina

(B) Pteropods

(C) Radiolaria

(D) None of the above

103. Surface Current in ocean is

primarily caused by

(A) temperature differences

(B) density differences

(C) wind action

(D) None of the above

104. The Dolphin Challenger Ridge is in

the

(A) Atlantic Ocean

(B) Indian Ocean

(C) Pacific Ocean

(D) None of the above

105. The type of rainfall occurring in the

equatorial region is

(A) convectional

(B) frontal

(C) orographic

(D) None of the above

106. Ice-crystal theory of precipitation

was propounded by

(A) Bergeron

(B) Evans

(C) Thornthwaite

(D) None of them

101. šøÑz¹³Ú ³¹ç¡®è¡[³ìA¡ ¤ºà ÒÚ

(A) "àK¢

(B) ë¹Kô

(C) Òà³àƒà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

102. "ài¡ºà[–i¡A¡ ³ÒàÎàKì¹¹ t¡ºìƒÅ "à¤õt¡ ¹ìÚìá
ë™Òü "¤ìÛ¡š ‡à¹à t¡à Òº

(A) ëNÃà[¤\à[¹>à A¡ƒ¢³

(B) ëi¡ì¹àšl¡ A¡ƒ¢³

(C) ë¹[l¡*º¸à[¹ìÚ> A¡ƒ¢³

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

103. Î³åì‰¹ ¤[Ò@ìÑ÷àt¡ l¡ü;š[v¡¹ A¡à¹o Òº

(A) t¡àìš¹ t¡à¹t¡³¸

(B) Q>ìŒ¹ t¡à¹t¡³¸

(C) ¤àÚå¹ A¡à™¢

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

104. l¡º[ó¡>ô W¡¸àìºgà¹ íÅº[Å¹à[i¡ ¹ìÚìá

(A) "ài¡ºà[–i¡A¡ ³ÒàÎàKì¹

(B) ®¡à¹t¡ ³ÒàÎàKì¹

(C) šøÅà”z ³ÒàÎàKì¹

(D) l¡üšì¹¹ ëA¡à>[i¡ìt¡Òü >Ú

105. [>¹Û¡ãÚ "e¡ìº ë™ ‹¹ì>¹ ¤õ[Ê¡šàt¡ ÒÚ t¡à Òº

(A) š[¹W¡º> ¤õ[Ê¡šàt¡

(B) Îã³à”z¤t¡¢ã ¤õ[Ê¡šàt¡

(C) íÅìºà;ìÛ¡š ¤õ[Ê¡šàt¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

106. "‹@ìÛ¡šìo¹ ¤¹ó¡ ëA¡ºàÎ t¡w[i¡¹ l¡üŠ±à¤A¡
Òìº>

(A) ¤àì\¢¹>

(B) Òü®¡à>Îô

(C) =>¢*ìÚi¡

(D) &òìƒ¹ ëA¡l¡üÒü >>
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107. Land for wheat should be

(A) terraced

(B) rough

(C) levelled and undulated

(D) None of the above

108. Soft wood is mainly supplied by

(A) coniferous forests

(B) deciduous forests

(C) Siberian forests

(D) None of the above

109. The generation of hydroelectric

power depends primarily on

(A) rainfall in the valley

(B) slope of the valley

(C) load in the river valley

(D) None of the above

110. Rubber plantations are found in the

forest region of

(A) temperate

(B) steppe 

(C) pampas

(D) None of the above

111. Petroleum is generally found in

(A) igneous intrusion into

sedimentary strata

(B) old fold mountainous belt

(C) alluvial deposits of river valley

strata

(D) folded marine sedimentary rock

strata

112. Ferro-alloys are known as

(A) rough steel

(B) low-quality steel

(C) special steel

(D) None of the above

107. K³ l¡ü;šàƒì>¹ l¡üš™åv¡û¡ W¡àìÈ¹ \[³ Ò*Úà
šøìÚà\>

(A) ‹àš™åv¡û¡

(B) &¤ìØl¡à-ëJ¤ìØl¡à

(C) t¡¹Uà[Út¡ * [A¡[e¡; n¡àºå

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

108. >¹³ A¡àk¡ šà*Úà ™àÚ ³èºt¡

(A) Î¹º¤K¢ãÚ ¤>àe¡º ë=ìA¡

(B) šo¢ì³àW¡ã ¤>àe¡º ë=ìA¡

(C) ÎàÒüì¤¹ãÚ ¤>àe¡º ë=ìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

109. \º[¤ƒå̧ ; Å[v¡û¡ l¡ü;šàƒ> šøà=[³A¡®¡àì¤ [>®¢¡¹ A¡ì¹

(A) l¡üšt¡¸A¡àÚ ¤õ[Ê¡šàìt¡¹ l¡üš¹

(B) l¡üšt¡¸A¡à¹ n¡àìº¹ l¡üš¹

(C) >ƒã-l¡üšt¡¸A¡à¹ ë¤àc¡à¹ l¡üš¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

110. ¹¤à¹ ¤à[KW¡àìÛ¡yP¡[º ë™ ¤>àe¡ìº ëƒJìt¡
šà*Úà ™àÚ t¡à Òº

(A) >à[t¡Åãìt¡àÌ¡ ¤>®è¡[³

(B) ëÐ¡š tõ¡o®è¡[³

(C) š´šàÎ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

111. ëšìi¡öà[ºÚà³ Îà‹à¹ot¡ šà*Úà ™àÚ

(A) šàº[ºA¡ Ñzì¹ "àìN—Ú l¡üƒôì¤ì‹

(B) šøàW¡ã> ®ò¡à\š¤¢t¡ ¤ºìÚ

(C) >ƒãl¡üšt¡¸A¡à¹ šºº "¤ìÛ¡šìo¹ Ñzì¹

(D) ®ò¡à\™åv¡û¡ Îà³å[‰A¡ šàº[ºA¡ [ÅºàÑzì¹

112. ëºïÒ[³[Åøt¡ Î}A¡¹ ‹àtå¡ìA¡ ¤ºà ÒÚ

(A) ¹àóô¡ [Ð¡º

(B) [>Aõ¡Ê¡ [Ð¡º

(C) [¤ìÅÈšøA¡à¹ [Ð¡º

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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113. Nathu La Pass is located in

(A) Sikkim

(B) Bhutan

(C) Arunachal Pradesh

(D) Nepal

114. The river Godavari rises from the

(A) Vindhya range

(B) Satpura range

(C) Himalayan range

(D) None of the above

115. Alpine vegetation occurs at the

heights between

(A) 4000 to 5300 meter

(B) 3000 to 4000 meter

(C) 2500 to 3000 meter

(D) None of the above

116. Raka is the tributary of the

(A) Mahanadi

(B) Brahmaputra

(C) Ganga

(D) None of the above

117. Drought of India is the outcome of

(A) untimely rainfall 

(B) erratic nature of rainfall

(C) dearth of rainfall

(D) None of the above

118. Rourkela Steel Plant is situated

(A) near Kharkai river

(B) near Brahmani river

(C) near Damodar river

(D) None of the above

113. >à=åºà [K[¹š=[i¡ "¤[Ñ‚t¡

(A) [Î[A¡ì³

(B) ®å¡i¡àì>

(C) "¹ç¡oàW¡º šøìƒìÅ

(D) ë>šàìº

114. ëKàƒà¤¹ã >ƒã¹ l¡ü;š[v¡ ÒìÚìá

(A) [¤Þê¡¸ š¤¢t¡³àºà ë=ìA¡

(B) Îàt¡šå¹à š¤¢t¡³àºà ë=ìA¡

(C) [Ò³àºÚ š¤¢t¡³àºà ë=ìA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

115. "à¿ãÚ l¡ü[Š±ƒ ëƒJà ™àÚ

(A) 4000–5300 [³i¡à¹ l¡üZW¡t¡àÚ

(B) 3000–4000 [³i¡à¹ l¡üZW¡t¡àÚ

(C) 2500–3000 [³i¡à¹ l¡üZW¡t¡àÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

116. ¹àA¡à ë™ >ƒã¹ l¡üš>ƒã t¡à Òº

(A) ³Òà>ƒã

(B) ¤øÕ¡šåy

(C) KUà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

117. ®¡à¹ìt¡¹ J¹à¹ A¡à¹o Ò’º

(A) Î³Ú³t¡ ¤õ[Ê¡šàt¡ >à Ò*Úà

(B) ¤õ[Ê¡šàìt¡¹ "[Ñ‚¹t¡à

(C) ¤õ[Ê¡¹ "®¡à¤

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

118. ë¹ï¹ìA¡ºà ÒüÑšàt¡ ëA¡–ƒø[i¡

(A) J¹A¡àÒü >ƒã¹ [>A¡ìi¡ "¤[Ñ‚t¡

(B) ¤øàÕ¡oã >ƒã¹ [>A¡ìi¡ "¤[Ñ‚t¡

(C) ƒàì³àƒ¹ >ìƒ¹ [>A¡ìi¡ "¤[Ñ‚t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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119. The Satpura is a/an

(A) igneous mountain

(B) residual hill

(C) fold mountain

(D) None of the above

120. Mountain soil of India is known as

(A) khadar

(B) bhur

(C) podsol

(D) laterite

121. The growth of population is mainly

due to

(A) decline in death rate

(B) industrialization

(C) increase in birthrate

(D) None of the above

122. Lakshadweep Islands are the

product of

(A) volcanic activity

(B) wave action

(C) seafloor expansion

(D) reef formation

123. The term ‘doab’ means

(A) where the delta of river begins

(B) where two or more rivers meet

(C) land between two separate river

systems

(D) land between two tributaries of

a river

124. Among the following types of biome,

which one has the highest species

diversity?

(A) Temperate forest

(B) Tropical rainforest

(C) Temperate deciduous forest

(D) Temperate grassland

119. Îàt¡šå¹à š¤¢t¡[i¡ Òº

(A) "àìN—Ú š¤¢t¡

(B) Û¡Ú\àt¡ š¤¢t¡

(C) ®ò¡à\š¤¢t¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

120. ®¡à¹ìt¡¹ šà¤¢t¡¸ ³õ[v¡A¡àìA¡ ¤ºà ÒÚ

(A) Jàƒà¹

(B) ®å¡¹

(C) šlô¡Îº

(D) º¸àìi¡¹àÒüi¡

121. \>Î}J¸à ¤õ[‡ý¡¹ ³èº A¡à¹o

(A) ³õtå¡¸Òà¹ ÒùàÎ

(B) [Å¿àÚ>

(C) \–µÒà¹ ¤õ[‡ý¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

122. ºÛ¡‡ãš Îõ[Ê¡¹ A¡à¹o Òº

(A) "àìN—Ú[K[¹¹ A¡à™¢A¡ºàš

(B) t¡¹ìU¹ A¡à™¢A¡ºàš

(C) Î³å‰¤ìÛ¡¹ [¤Ñzõ[t¡

(D) šø¤àºšøàW¡ã¹ Kk¡>

123. ‘ëƒàÚà¤’ A¡=à[i¡¹ "=¢ Òº

(A) ë™Jàì> >ƒã-¤‡ãš Ç¡¹ç¡ ÒÚ

(B) ë™Jàì> ƒå[i¡ ¤à t¡ìt¡à[‹A¡ >ƒã &ìÎ [³[ºt¡
ÒÚ

(C) ƒå[i¡ >ƒã¹ ³‹¸¤t¡ã¢ ®è¡[³®¡àK

(D) ƒå[i¡ l¡üš>ƒã¹ ³‹¸¤t¡ã¢ ®è¡[³®¡àK

124. [>ì³—àv¡û¡ ¤àìÚàì³¹ ëA¡à>[i¡ìt¡ \ã¤î¤[W¡y¸
Î¤¢à[‹A¡?

(A) >à[t¡Åãìt¡àÌ¡ ¤>®è¡[³ìt¡

(B) yû¡à”zãÚ ¤õ[Ê¡-"¹o¸ ®è¡[³ìt¡

(C) >à[t¡Åãìt¡àÌ¡ Î¹º¤K¢ãÚ ¤>®è¡[³ìt¡

(D) >à[t¡Åãìt¡àÌ¡ tõ¡o®è¡[³ìt¡
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125. Which of the following trees, once

very popular in social forestry, is

now taken to be environmental

hazard?

(A) Babul

(B) Eucalyptus

(C) Neem

(D) None of the above

126. The largest automobile manufac-

turing centre in the world is

located at

(A) Detroit

(B) Tokyo

(C) Birmingham

(D) None of the above

127. Find the RF when the scale is ¢ ¢2  to

the mile.

(A) 1 : 63360

(B) 1 : 31680

(C) 1 : 126720

(D) None of the above

128. The projection by which the

temperate regions are mapped, is

(A) stereographic

(B) cylindrical

(C) conical

(D) None of the above

129. The objectivity of plantation farming

is

(A) subsistence

(B) business under one umbrella

(C) labour deployment

(D) None of the above

130. Which of the following is a small-

scale map?

(A) Topographical map

(B) City map

(C) Atlas map

(D) None of the above

125. >ãì³—àv¡û¡ ¤õÛ¡P¡[º¹ ³ì‹¸ ëA¡à>[i¡ìA¡, ë™[i¡ &A¡ƒà
Îà³à[\A¡ ¤>Îõ\ì> Jå¤ \>[šøÚ [áº, ¤t¢¡³àì>
š[¹ì¤Å ƒèì™¢àìK¹ ³èº ¤ìº ‹¹à ÒÚ?

(A) ¤à¤åº

(B) Òül¡üA¡¸[ºši¡àÎ

(C) [>³

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

126. šõ[=¤ã¹ ¤õÒv¡³ ë³ài¡¹Kà[Øl¡ [>³¢ào ëA¡–ƒø[i¡ "¤[Ñ‚t¡

(A) ël¡i¡öìÚìi¡

(B) ëi¡à[A¡*ìt¡

(C) ¤à[³¢}Òàì³

(D) l¡üšì¹¹ ëA¡à>[i¡ìt¡Òü >Ú

127. ™J> ³à>[W¡ìy¹ ëÑHº ëƒ*Úà "àìá ¢ ¢ =2 1

³àÒüº, t¡J> RF ÒÚ

(A) 1 : 63360

(B) 1 : 31680

(C) 1 : 126720

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

128. >à[t¡Åãìt¡àÌ¡ "e¡ºìA¡ ë™ "[®¡ìÛ¡ìš¹ ³à‹¸ì³
ëƒJàì>à ™àì¤ t¡à Òº

(A) Q>áA¡ "[®¡ìÛ¡š

(B) >º "[®¡ìÛ¡š

(C) ÅàS¡¤ "[®¡ìÛ¡š

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

129. ¤à[KW¡à Aõ¡[È¹ l¡üì„Å¸ Òº

(A) \ã[¤A¡àÎv¡à[®¡[v¡A¡

(B) &A¡áy ¤à[o\¸

(C) Åø³ [>ìÚà\>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

130. >ãìW¡¹ ëA¡à>[i¡ ëáài¡ ëÑHìº¹ ³à>[W¡y?

(A) ®è¡-î¤[W¡y¸ÎèW¡A¡ ³à>[W¡y

(B) >K¹ ³à>[W¡y

(C) "¸ài¡ºàÎ ³à>[W¡y

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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131. What is the mean of the following

scores?

    13, 15, 17, 23, 15, 15, 14

(A) 16

(B) 15·57

(C) 14·95

(D) None of the above

132. Simple frequency distribution shows

(A) the value of variables

individually

(B) the variable in groups

(C) the variables in intervals

(D) None of the above

133. Width of a class is equal to

(A) upper class limit–lower class

limit

(B) upper class boundary–lower

class boundary

(C) upper class boundary–lower

class limit

(D) None of the above

134. World Trade Organization controls

the

(A) natural resources

(B) health

(C) cultural services

(D) All of the above

135. In which of the following countries

is the Ruhr-Westphalia Industrial

Complex located?

(A) The USA

(B) Canada

(C) Germany

(D) None of the above

131. >ãìW¡¹ Î}J¸àP¡[º¹ KØl¡ A¡t¡?

    13, 15, 17, 23, 15, 15, 14

(A) 16

(B) 15·57

(C) 14·95

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

132. Î¹º š[¹Î}J¸à [¤®¡à\ì> ëƒJà ™àÚ

(A) W¡ºìA¡¹ [¤[®¡Ä ³à> &A¡A¡®¡àì¤

(B) W¡ºìA¡¹ ëÅøoã¤‡ý¡ ³à>

(C) W¡ºìA¡¹ ëÅøoãšøÎà¹

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

133. ëÅøoã [¤®¡à\ì>¹ šøÑ‚ Òº

(A) ëÅøoã[i¡¹ $‡ý¢¡Îã³à–ëÅøoã[i¡¹ [>³—Îã³à

(B) ëÅøoã[i¡¹ $‡ý¢¡Îã³à>à–ëÅøoã[i¡¹ [>³—Îã³à>à

(C) ëÅøoã[i¡¹ $‡ý¢¡Îã³à>à–ëÅøoã[i¡¹ [>³—Îã³à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

134. *ÚàÁ¢¡ ëi¡öl¡ "K¢à>àÒüì\Å> [>Ú”|o A¡ì¹

(A) šøàAõ¡[t¡A¡ Î´šƒ

(B) Ñ¬àÑ‚¸

(C) Îà}ÑAõ¡[t¡A¡ ëÎ¤à

(D) l¡üšì¹¹ Î¤P¡[ºÒü

135. [>ì³—àv¡û¡ ëA¡à>ô ëƒìÅ ¹ê¡Øn¡-*ìÚÐ¡ìó¡[ºÚà
[Å¿àe¡º[i¡ "¤[Ñ‚t¡?

(A) "àì³[¹A¡à ™åv¡û¡¹àìÊ¡ö

(B) A¡à>àl¡àÚ

(C) \à³¢à>ãìt¡

(D) l¡üšì¹¹ ëA¡à>[i¡ìt¡Òü >Ú
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136. The world’s largest oil reserves is

found in

(A) The USA

(B) West-Asia

(C) CIS countries

(D) None of the above

137. Shape is preserved in the projection

of

(A) homolographic

(B) stereographic

(C) orthomorphic

(D) None of the above

138. Disasters occur

(A) when hazard takes place

(B) when vulnerability is there

(C) when hazard and vulnerability

meet together

(D) None of the above

139. Chemical weathering includes

(A) oxidation, transformation and

exfoliation

(B) carbonation, oxidation and

exfoliation

(C) hydration, oxidation and

carbonation

(D) None of the above

140. The heavier silicate named ‘sima’ are 

most abundant in the 

(A) crust

(B) core

(C) mantle

(D) None of the above

136. šõ[=¤ã¹ ¤õÒv¡³ ít¡º ®¡àr¡à¹ ¹ìÚìá

(A) "àì³[¹A¡à ™åv¡û¡¹àìÊ¡ö

(B) š[ÆW¡³-&[ÅÚàìt¡

(C) [Î. "àÒü. &Î. ëƒÅÎ³èìÒ

(D) l¡üšì¹¹ ëA¡à>[i¡ìt¡Òü >Ú

137. "àAõ¡[t¡ ¤\àÚ ¹àJà¹ "[®¡ìÛ¡š[i¡ Òº

(A) ëÒàì³àìºàNøà[ó¡Aô¡

(B) [Ð¡[¹*Nøà[ó¡Aô¡

(C) "ì=¢à³¹[ó¡Aô¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

138. [¤š™¢Ú Qìi¡

(A) ™J> ëA¡à> "àA¡[Ñ¶A¡ Qi¡>à Qìi¡

(B) ™J> ®¡Uå¹ "¤Ñ‚à =àìA¡

(C) ™J> "àA¡[Ñ¶A¡ Qi¡>à * ®¡Uå¹ "¤Ñ‚à¹
[³º> Qìi¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

139. ¹àÎàÚ[>A¡ "à¤Ò[¤A¡àì¹¹ "”z®¢å¡v¡û¡ Òº

(A) "[Gìl¡Å>, i¡öàXó¡¹ì³Å> * &Gìó¡à[ºìÚÅ>

(B) A¡àì¤¢àì>Å>, "[Gìl¡Å> * &Gìó¡à[ºìÚÅ>

(C) ÒàÒüìl¡öÅ>, "[Gìl¡Å> * A¡àì¤¢àì>Å>

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

140. ®¡à¹ã [Î[ºìA¡i¡ ë™[i¡ ¡‘[Î³à’ >àì³ š[¹[W¡t¡,
ëÎ[i¡¹ šøàWå¡™¢ ëƒJà ™àÚ

(A) ®è¡ŒìA¡

(B) ëA¡–ƒø³r¡ìº

(C) P¡¹ç¡³r¡ìº

(D) l¡üšì¹¹ ëA¡à>[i¡ìt¡Òü >Ú
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141. On January 2017, which district of

Tripura experienced the tremor?

(A) Gomati District

(B) Dhalai District

(C) Unakoti District

(D) None of the above

142. Westward flowing river of Tripura is

the

(A) Gomati

(B) Khowai

(C) Dhalai

(D) None of the above

143. The Juri river flows through a valley

between

(A) Jampui range in the East and

Sakhantlang range in the West

(B) Sakhantlang range in the East

and Longtorai range in the West

(C) Longtorai range in the East and

Jampui range in the West

(D) None of the above

144. A group of interrelated food chains

is known as

(A) autotroph

(B) heterotroph

(C) food web

(D) None of the above

145. A long, narrow, deep, U-shaped inlet 

that represents the seaward end of a 

glacial valley, is called

(A) ria

(B) fiord

(C) valley

(D) None of the above

141. \à>åÚà[¹ 2017ët¡ [yšå¹à¹ ëA¡à>ô ë\ºàìt¡
®è¡[³A¡´š ">å®è¡t¡ ÒÚ?

(A) ëKà³t¡ã ë\ºà

(B) ‹ºàÒü ë\ºà

(C) $>ìA¡à[i¡ ë\ºà

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

142. [yšå¹à¹ š[ÆW¡³¤à[Ò>ã >ƒã Òº

(A) ëKà³t¡ã

(B) ëJàÚàÒü

(C) ‹ºàÒü

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

143. [yšå¹à¹ \å[¹ >ƒã[i¡ ë™ l¡üšt¡¸A¡à¹ ³ì‹¸ [ƒìÚ
šø¤à[Òt¡ ëÎ[i¡ Òº

(A) šèì¤¢ \´šåÒü ëÅøoã * š[ÆW¡ì³ ÎàJà>ôi¡ºà}
ëÅøoã

(B) šèì¤¢ ÎàJà>ôi¡ºà} ëÅøoã * š[ÆW¡ì³ º}t¡¹àÒü
ëÅøoã

(C) šèì¤¢ º}t¡¹àÒü ëÅøoã * š[ÆW¡ì³ \´šåÒü ëÅøoã

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

144. šà¹Ñš[¹A¡ Î´šA¢¡™åv¡û¡ Jàƒ¸ÅõTìº¹ ëKàË¡ãìA¡
¤ºà ÒÚ

(A) Ñ¬ì®¡à\ã

(B) š¹ì®¡à\ã

(C) Jàƒ¸\àºA¡

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

145. &A¡[i¡ ƒãQ¢, Î}A¡ão¢, K®¡ã¹, U-"àAõ¡[t¡¹ Jòà[Øl¡
ë™[i¡ [Ò³¤àÒ l¡üšt¡¸A¡à¹ Î³å‰ "[®¡³åJã ÒìÚ
"¤Ñ‚à> A¡ì¹, ëÎ[i¡ Òº

(A) [¹Úà

(B) [ó¡Úl¢¡

(C) l¡üšt¡¸A¡à

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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146. The Kuroshio Current is flowing

along the

(A) West Coast of Japan

(B) East Coast of Japan

(C) South Coast of Japan

(D) None of the above

147. A nautical mile is equal to

(A) 6060 ft

(B) 5060 ft

(C) 5280 ft

(D) 6080 ft

148. The area of occurrence of diatome

zone is in

(A) low latitudes

(B) high latitudes

(C) equatorial areas

(D) None of the above

149. Close to the equator the tropical

cyclones do not occur because of

(A) weak Coriolis force

(B) light and variable winds

(C) excessive humidity

(D) None of the above

150. Which one is correct P25 percentile

among the frequencies of 6, 11, 10,

8, 8, 5, 2 where class interval

belongs from 29·5–34·5 onwards to

59·5 to 64·5?

(A) 38·00

(B) 38·18

(C) 37·75

(D) None of the above

146. Aå¡ì¹à[ÅìÚà ëÑ÷àt¡ šø¤à[Òt¡ ÒÚ

(A) \àšàì>¹ š[ÆW¡³ l¡üšAè¡º [ƒìÚ

(B) \àšàì>¹ šè¤¢ l¡üšAè¡º [ƒìÚ

(C) \àšàì>¹ ƒ[Û¡o l¡üšAè¡º [ƒìÚ

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

147. &A¡ >[i¡A¡àº ³àÒüº Òº

(A) 6060 óå¡i¡

(B) 5060 óå¡i¡

(C) 5280 óå¡i¡

(D) 6080 óå¡i¡

148. l¡àÚàìi¡à³ "e¡º[i¡¹ [¤Ñzõ[t¡ ëƒJà ™àÚ

(A) [>³— "Û¡à}ìÅ

(B) l¡üZW¡ "Û¡à}ìÅ

(C) [>¹Û¡ãÚ "e¡ìº

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

149. [>¹Û¡ãÚ "e¡ìº¹ A¡àáàA¡à[á yû¡à”zãÚ Qèo¢¤àt¡ Îõ[Ê¡
ÒÚ >à

(A) ƒè¤¢º ëA¡à[¹*[ºÎ ¤ìº¹ A¡à¹ìo

(B) Òà»¡à * š[¹¤t¢¡>Åãº ¤àÚå¹ A¡à¹ìo

(C) "à‰¢t¡à¹ šøàWå¡ì™¢¹ A¡à¹ìo

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú

150. ëA¡à>[i¡ Î[k¡A¡ P25 Åt¡A¡t¡³ "¤Ñ‚à> ™J>
š[¹Î}J¸à> (f) P¡[º Òº 6, 11, 10, 8, 8,

5, 2 ë™Jàì> ëÅøoãÎã³à 29·5–34·5 Òìt¡
59·5—64·5 &¹ ³ì‹¸ "¤Ñ‚à> A¡ì¹?

(A) 38·00

(B) 38·18

(C) 37·75

(D) l¡üšì¹¹ ëA¡à>[i¡Òü >Ú
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READ THE FOL LOW ING IN STRUC TIONS CARE FULLY :  

[>³—[º[Jt¡ [>ìƒ¢Åà¤ºã ®¡àìºà A¡ì¹ šØl¡æ> :
1. Out of the four alternatives for each question, only one circle for the correct answer is to be darkened

completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

šø[t¡[i¡ šøìÅ—¹ l¡üv¡¹ [ÒÎàì¤ ë™ W¡à¹[i¡ [¤A¡¿ ëƒ*Úà "àìá t¡à ë=ìA¡ Ç¡‹å³ày Ç¡‡ý¡ l¡üv¡¹[i¡¹ ëšø[Û¡ìt¡ OMR l¡üv¡¹šìy ëƒ*Úà ¤õv¡[i¡ A¡àìºà ¤ºšìÚ–i¡
A¡º³ ‡à¹à Î´šèo¢¹ê¡ìš A¡àìºà A¡ì¹ [W¡[Òû¡t¡ A¡¹ìt¡ Òì¤¡ú &A¡¤à¹ l¡üv¡¹ [W¡[Òû¡t¡ A¡¹à ÒìÚ ëKìº t¡àìA¡ "à¹ š[¹¤t¢¡> A¡¹à ™àì¤ >à¡ú

2. The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.

š¹ãÛ¡à=¢ã¹à ëA¡àì>à®¡àì¤Òü OMR l¡üv¡¹šy[i¡ ®ò¡à\ A¡¹ì¤> >à¡ú OMR l¡üv¡¹šìy ëA¡àì>à¹A¡³ ƒàK A¡ài¡à ¤à ³”z¤¸ ëºJà ™àì¤ >à¡ú š¹ãÛ¡à=¢ã¹à tò¡àìƒ¹
ë¹àº >à´¬à¹ l¡üv¡¹šìy [>[ƒ¢Ê¡ A¡¹à \àÚKà áàØl¡à ">¸ ëA¡àì>à \àÚKàÚ [ºJì¤> >à¡ú

3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR l¡üv¡¹šy &¤} šøÅ—šìy¹ ¤¸¤Òàì¹ Îà[¤¢A¡ Ît¡A¢¡t¡à "¤º ¬́> A¡¹ìt¡ Òì¤¡ú ëA¡àì>à "¤Ñ‚àìt¡Òü (³å‰o yç¡[i¡ * š‡ý¡[t¡Kt¡ yç¡[i¡ áàØl¡à) OMR l¡üv¡¹šy
* šøÅ—šy šàìÂi¡ ëƒ*Úà ™àì¤ >à¡ú

4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

š¹ãÛ¡à=¢ãìA¡ "¸àìi¡ì“¡X Åãi¡-& tò¡à¹  OMR l¡üv¡¹šìy¹ >à´¬à¹ &¤} šøÅ—šìy¹ >à´¬à¹ [>®å¢¡º®¡àì¤ [ºJìt¡ Òì¤¡ú
5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile

phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

š¹ãÛ¡à=¢ãìA¡ "¸àl¡[³i¡ A¡àl¢¡ &¤} ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ áàØl¡à ">¸ ëA¡àì>à áàšàì>à ¤à ëºJà A¡àK\, šk¡> * ³å‰o\àt¡ Îà³Nøã, ëš\à¹, ë³à¤àÒüº ëó¡à>,
">¸ ëA¡àì>à¹A¡³ ÒüìºC¡ö[>A¡ [l¡®¡àÒüÎ [>ìÚ š¹ãÛ¡à Òìº/A¡ìÛ¡ šøì¤Å A¡¹ìt¡ ëƒ*Úà Òì¤ >à¡ú

6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

š¹ãÛ¡à Òìº Òü>[®¡[\ìºi¡¹ A¡tõ¢¡A¡ [A¡}¤à š¹ãÛ¡à ëA¡ì–ƒø¹ [®¡t¡ì¹ š¹ãÛ¡à-Î}[ÅÃÊ¡ "à[‹A¡à[¹A¡ A¡tõ¢¡A¡ ƒà[¤ A¡¹à Òìº šøìt¡¸A¡ š¹ãÛ¡à=¢ã tò¡à¹ "¸àl¡[³i¡ A¡àl¢¡ *
ó¡ìi¡à "àÒüìl¡>[i¡[i¡ A¡àl¢¡ ëƒJàìt¡ ¤à‹¸ =àA¡ì¤>¡ú

7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her 
seat.

ëÎ–i¡à¹ Îåšà[¹>ìi¡>ìl¡–i¡ ¤à Òü>[®¡[\ìºi¡¹-&¹ [¤ìÅÈ ">å³[t¡ áàØl¡à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òìº tò¡à¹ ¤Îà¹ Ñ‚à> š[¹¤t¢¡> A¡¹ìt¡ šà¹ì¤> >à¡ú
8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after

taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

š¹ãÛ¡à=¢ã[ƒKìA¡ Òü>[®¡[\ìºi¡ì¹¹ ëƒ*Úà "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹ìt¡ Òì¤, šø=³¤à¹ š¹ãÛ¡à Òìº tò¡àìƒ¹ "àÎ> NøÒìo¹ š¹ &¤} [‡t¡ãÚ¤à¹

Òü>[®¡[\ìºi¡ì¹¹ [>A¡i¡ OMR l¡üv¡¹šy \³à ëƒ*Úà¹ Î³ìÚ¡ú
9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet

to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

"¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ A¡¹à &¤} A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡¹-&¹ [>A¡i¡ l¡üv¡¹šy \³à ëƒ*Úà ¤¸t¡ãt¡ ëA¡àì>à š¹ãÛ¡à=¢ã š¹ãÛ¡à Òº t¡¸àK A¡¹ìt¡

šà¹ì¤> >à¡ú ™[ƒ ëA¡àì>à š¹ãÛ¡à=¢ã "¸àìi¡ì“¡X Åãi¡-& ƒåÒü¤à¹ Ñ¬àÛ¡¹ >à A¡ì¹> t¡ì¤ [t¡[> tò¡à¹ OMR l¡üv¡¹šy \³à A¡ì¹>[> ¤ìº Ko¸ Òì¤ &¤} t¡à
">å[W¡t¡ A¡à™¢ [ÒÎàì¤ ‹¹à Òì¤¡ú

10. Use of any type of calculating device is prohibited.

ë™ ëA¡àì>à ‹¹ì>¹ A¡¸àºAå¡ìºi¡ì¹¹ ¤¸¤Òà¹ Î´šèo¢¹ê¡ìš [>[È‡ý¡¡ú
11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the

Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

š¹ãÛ¡à Òº/A¡ìÛ¡¹ ³ì‹¸ š¹ãÛ¡à=¢ã¹ "àW¡¹o ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à ">å™àÚã W¡à[ºt¡ Òì¤¡ú Î¤ ‹¹ì>¹ ">å[W¡t¡ A¡à™¢ ë¤àìl¢¡¹ [>Ú³ * [>ìƒ¢[ÅA¡à
">å™àÚã [>[ƒ¢Ê¡ Òì¤¡ú

12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.

ëA¡àì>à "¤Ñ‚àìt¡Òü šøÅ—šy &¤} OMR  l¡üv¡¹šìy¹ ëA¡àì>à "}Å ëáòØl¡à ¤à "àºàƒà A¡¹à ™àì¤ >à¡ú
13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the

Hall/Room. The candidates are allowed to take away the Question Booklet with them.

š¹ãÛ¡à ëÅÈ Ò*Úà¹ šì¹ š¹ãÛ¡à=¢ã "¤Å¸Òü tò¡à¹  OMR l¡üv¡¹šy A¡t¢¡¤¸¹t¡ Òü>[®¡[\ìºi¡ì¹¹ A¡àìá \³à ëƒì¤>¡ú š¹ãÛ¡à=¢ã¹à šøÅ—šy[i¡ tò¡àìƒ¹ Îàì=
[>ìÚ ë™ìt¡ šàì¹>¡ú

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	5-Cover.pdf
	5.pdf
	5a-Cover.pdf



